1 The disc amplitude

Note: The treatment here follows Zwiebach.

Suppose we have two open strings scattering off each other. This will be a 4-point diagram, since
there are two incoming quanta and two outgoing quanta. We will take the open strings to be in
their ground states, which are tachyons with

1
m = —p? = - (1)

We will have
p1+p2+p3+ps=0 (2)

The interaction will be described by inserting the vertex operators for the tachyons on the boundary
of a disc. For vertex operators
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the OPE is
ePX (2)ePiX () ~ |2 — /|2 PiRiPiAPIX | (4)

The general correlation function is
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We would need to integrate over the locations of the insertions, which we study now.

2 Disc as an upper half plane (UHP)

Let the disc be defined as

lw| <1 (6)
Consider the analytic map
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We can see that this maps the disc to the upper half plane. The boundary of the disc goes to the
real axis. This can be seen by noting that the boundary is

w=e?, —r<b<nm (8)
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Thus we get real z, and these real numbers cover the real line (including the point at infinity) once.
Thus the boundary of the disc maps to the boundary of the UHP. Now we check that the interior of



the disc maps to the interior of the UHP. We need to show that the imaginary part of z is positive.
Let w = = + iy. We have

(A—2)—iy _ [(1—=2)—i)[(1+2)—iy] _ (1—a®—y?) =2 —z)y

z=1 - 10
(o) + i EEEERT REERT. 1o
Using 22 + y? < 1, we see that Im(z) > 0, so we are in the UHP.
We now check that the UHP is preserved by fractional linear transformations
, az+b
= d—bc=1 11
fTata © (11)

where a, b, c,d are real. Note that the real line goes to the real line. We could have scaled all of
a, b, c,d by a uniform constant, and the transformation would not change. In this way we can have
ab — cd = X for any A > 0, but note that we cannot get A < 0. Now let us check that we remain in
the UHP. Let z = = 4+ iy. We have

y (ax +0b) +iay  [(ax +b) +iay][(cx + d) — icy]

_ — 12
(cx +d) +icy (cx +d)? + c2y? (12)
Thus d—b
Im[] = L J >0 13
ml] =y (cx +d)? + 2y?  (cd+ d)? + 2y? (13)
so we are in the UHP.
Let us see how variables transform under the fractional linear transformation. We have
dz (az +b)c a(cz +d) — c(az + b) ad — bc 1
d /: a _ d — d — d = d 14
- [cz—l—d (cz+d)2] ? (cz + d)? : (cz + d)? ? (cz+d)? : (14)
S0 +b az+b _ (az1+b)(cz2 +d) — (az2 +b)(cz1 +d) _ (ad —bc)(21 —22) 21— 22
! cz1+d cxm+d (cz1 + d)(czy + d) (cz1 +d)(cza +d)  (cz1 +d)(cz2 +d)
(15)

3 Writing the amplitude

We can use fractional linear transformations to fix three points to arbitrary values. It is conventional
to fix z1, 23, 24. Then zo = z will need to be integrated over. We have to decide what measure to
use for z. The goal is to get invariance under fractional linear transformations. It turns out that
the correct measure is

dp = dz|z1 — z3||z3 — 24|24 — 21| (16)
This will transform to

dz |21 — 23] |23 — 24] |24 — 21| _ dz |21 — 23||23 — 24]|24 — 21
lcz +d|? |(cz1 + d)(cz3 + d)| |(cz3 + d)(czq + d)| |(czq + d)(czy +d)|  |cz +d|? |(cz1 + d)|?|(cz3 + d)|?|(czq + d)|?
(17)




The actual correlator of vertex operators has the factor

‘Z _ 21’20/172171’2 _ 23’2a’p2~p3’2 _ 24‘20/132'104‘21 _ 23‘20/101'103 23— 24 20/p3-pa 24— 2 20/ pa-p1

This transforms to itself times the multiplicative factor

\(cz + d) |—20/172'P1—2a'p2'p3—2a'p2~p4
|(cz1 + d) |—20/172'P1—2a'p1'p3—2a'p1~p4
|(cz3 + d) |—20/?2'?3—20/!’3'!’1—20/!)3'!)4
|(cz4 + d) |—2a'p2'p4—2a'P4 “p3—2a'ps-ps

Thus the total power of |cz + d| is

1
—2[14+a'py - (p1 +p3 +pa)] = =2[1 — a'pa - po] = —2[1 — O/J] =0

(18)

(19)

(20)

and similarly for the other factors. Thus the integral is invariant under fractional linear transfor-

mations.

We now set
z21=0, z3=1, zg=00

The integral now simplifies to
/dz]24\2]2\20‘lp2'p1]2 _ 1‘20/172-173’z4‘2a’pz~p4‘Z4l2a’p3-p4’z4‘2a’p4-p1
The power of |z4| again cancels

21+ a'ps- (p1+p2+p3)] =2[1 —a'ps-pa] =0

and we get
/dZ’ZFa'pz'pl‘Z _ 1’20/102'103

The variable z lies on the real line between z; and z3, which gives 0 < z < 1. Thus we have

1
/ d2220/p2~p1(1 _ 2)20/102'173
0

4 Converting to physical variables

Note that 9
s=—(p1+p2)? = v 2p1-2
so that
20/p1 -pp=—ad's—2=—(a/s+1)—1
Similarly,

2
t=—(pa+p3)* = T 2p2-3

(26)

(27)



so that

2a'py p3=—adt—2=—(t+1)—-1 (29)
We write
a(s)=d's+1, at)=dt+1 (30)
Then the integral becomes
1
/ dzz=)71(1 — z)7e®~1 (31)
0
Recall that the Beta function is defined as
! L'(a)(b)
Bla,b) = [ dzz®t(1 —2)7t = 22 32
0] = [ dear (=0t = TR (32)
Thus the integral equals
I'(— I'(—alt
(~a(s)T(~a(t) -

I'(—afs) — a(t))

The I" function has poles when its argument is zero or a negative integer. Thus there are poles for

a(s)=n, n=0,1,... (34)
and for
alt)y=n, n=0,1,... (35)
Thus the poles in the s-channel occur for
1
&s+1-—n, s=—(n-1), n=01,... (36)

We see that these are just the masses of the open string states. The same poles occur in the
t-channel.

5 Closed strings

We can do a similar analysis for closed strings, and the amplitude is called the Virasoro-Shapiro
amplitude.. This time the world sheet is a sphere, and we have 4 points on this sphere. By
conformal invariance, we can again set three points to 0,1, 00. The last point is z.

The closed string tachyons have

with all numbers complex. We have

d? d? — =ddZ————
TG TR rae et dp




The measure will now be
dp = d*z|z1 — 23|23 — 24)?|24 — 21| (40)

The amplitude for 4 vertex operators will be

/d2z|z1—z3|2|z3—z4|2|z4—z1|2|z—z1|°‘/p2'p1|z—z3|a’p2'p3|z—z4|°"p2'p4|z1—z3|0‘/p1'p3|z3—z4|°‘,p3'p4|z4—z1|",p4'p1

(41)
For the positions of the operators chosen, we get
/d22124‘412‘4a’p2-m’2 _ 1’oc’pz~p3‘Z4la’pz~p4‘Z4la’p3~p4‘z4’oc’p4~p1 (42)
The power of z4 cancels, and we get
/dQZ’Z‘O/IJz'pl’Z _ 1’0/102'103 (43)
We have
o
T[A] = /0 A1t (44)
We have
%A1 |l I 21 12 A—T — |2t —24
[t e [ () e < (45)
Thus 1 1 o
—_— = dttA—1eInlt 46
g, 0
The quantity that we wish to compute is
A= /d2zyz\a’p2'p1\z —1|P2ps (47)
Now use (46) with
1
—2A=dpy-p1, A= —§a'p2 - p1 (48)
to get
1 & 1 2
|2|@P2PL = —/ dtt— 2Pt (49)
I[—3a/ps-p1] Jo
Similarly,
1 o0 1
|z — 1|°‘l1”2'1”3 = —/ dss~ 2 Prp3=lo=lz=1%s (50)
I[—3a/p2 - p3] Jo

Writing z = x + iy, we have

1 o0 o0 o0 o0 17 1 1 7 1 2t 12
A= i 1 / / da:dy/ dt/ dst™ 2@ P21l gm3a'prpa—l |2t |21 s
Ll=5ap2 - p1|T[=50'p2 - p3] 00 J oo 0 0
(51)

We have
e—\z\zte—\z—l\zs — e—(x2+y2)t—((x—l)2+y2)s — e—se—(t+s)x2+25xe—(t+s)y2 (52)



We have

oe] 5 T 52
/ dze=(tHs)z"+2s2 — etts (53)
0 t+ S
l/wdw;wHMQZ m (54)
0 t+ S
Thus we get
(o] [e.e] 52
A= T _ 1 / dt/ dst~39PrP1-lg—3lprpa—lo=s T o (55)
L[—5a'p2 - p1|L[—50'p2 - p3] Jo 0 t+s
Write
t=au, s=(1-a)u (56)
Thus
t+s=u (57)
WWe have ot ot 9 9
s s
=" =P g W %_1—a (58)
ot
8((a7 Z)) =u(l—a)+au=u (59)
Thus we get
1 o) —a)242
A= T x 1 / da/ duu(au)_%a/pz'pl_l((1—a)U)_%a/pz'p‘(’_le_(l_“)“ze%
L[—3ap2 - p1]l[—5a'p2 - p3] Jo 0 u
(60)
i 1 o0 1 7 1 1 7 1 1 7 1 7 2 1
A= T lwm pIl =2/ - po) A A O
—Q'p2 - p1jl|—3Q' P2 - P3| Jo 0
(61)
First we do the u integral
> —La/pap1—sa/p2p3—2,—a(l—a)u L, L, La/papi+ia’paps+l
du(u)™ 2 2 e ZF[—§GP2'I)1—§CYP2'I’3—1](@(1_G))2 ? '
0
(62)

The a integral now is

1 1
/ da(a)_%a,p?pl_l(l _ a)—%a’pz-ps—l(a(l _ a))%a’pz-pﬁ%a’pz'ps—i—l _ / da(a)%a/m'pg(l _ a)%a’pz-m
0 0

(63)
This gives
! : ' T[ia'pe - ps+ 1T [Ea/py - p1 +1
/ da(a)%a p2'p3(1 _ a)%a p2:p1 — [2 lp? b3 ] 1[2, b2 - P1 ] (64)
0 Ll3a/p2 - p1+ 50/pe - p3 + 2]
Thus overall we get
A WF[—%a'pz p1— 2a/pa-ps — 1l [2a/ps - p3 + 1T [3a/ps - p1 + 1] (65)
U[—5a'py - pi|T[—3a/py - p3|T[50/pa - p1 + 50/pa - p3 + 2]
Note that
1 / 1 / 1 /
—50 (P2 -p1+p2-p3+4)= —5@ (P2 pr+p2-p3 P2 p2) = 50D pa (66)



Thus
1

1 1
Pl—=d'py-p1 — =a'py - p3 — 1] = F[éa/pz -pg + 1]

2 2
and

A=

F[%O/pg “pa+ 1]F[%O/p2 - p3 + 1]F[%O/p2 -p1 +1]

T[—50'py - pi|T[—3a'py - p3|T[50/pa - p1 + 50/pa - p3 + 2]

Let us convert this to physical variables. We have

8
s=—(p1+p2)’ =pl+p3+2p po= —J—Qpl - P2

Thus ] 1
o'prp2 = —5(o's +8) = —(a's +4) -2
Writing
1

a(s) = Z(O/S +4)

we have 1
50/101 “p2+1=—a(s)

Thus we get

The s channel poles are at
a(s)=n, n=0,1,2,...

4
which agrees with the masses of the string states.

1
—(d/s+4)=n, s=—(n-1), n=0,1,...
a



